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TRIGONOMETRY REVIEW

Find the reference angle.
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Convert each degree measure into radians.
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Convert each radian measure into degrees.

46)  

 

−
16

  

π

 

9
47)  

 

55

  

π

 

36

48)  

 

14

  

π

 

9
49)  

 

−
3

  

π

 

4

50)  

 

17

  

π

 

6
51)  

 

11

  

π

 

4

52)  

 

−

  

π

 

6
53)  

 

3

  

π

 

2

54)  

 

−
59

  

π

 

18
55)  

 

−
29

  

π

 

18

56)  

 

59

  

π

 

36
57)  

 

−
5

  

π

 

6

58)  

 

29

  

π

 

6
59)  

 

15

  

π

 

4

60)  

 

11

  

π

 

3
61)  

 

13

  

π

 

12

62)  

   

π

 

6
63)  

 

4

  

π

 

3

64)  

 

−
5

  

π

 

4
65)  

 

−
11

  

π

 

18

Find the exact value of each trigonometric function.
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Graph each function using radians.
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Answers to TRIGONOMETRY REVIEW
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